
Sr No. PGDIP IPR
1 Find the missing term in the following series:

3,10,29,66,127…?
Alt1 164
Alt2 187
Alt3 216
Alt4 218

2 Choose word from the given options which bears the same relationship to the third word, as the first two bears:
Flower : Butterfly :: Dirt :?

Alt1 Rats
Alt2 Fly
Alt3 Bugs
Alt4 Sweeper

3 Tiff is to Battle as Frugal is to …….?......
Alt1 Sprint
Alt2 Vague
Alt3 Miserly
Alt4 Vital

4 Select the lettered pair that has the same relationship as the original pair of words:
Expend:
 Replenish

Alt1 Exhort: Encourage
Alt2 Formant: Rebellion
Alt3 Defect: Rejoin
Alt4 Encroachment: Occupy

5 Choose the set that has the same relationship as in the original:
Bone : Skeleton : Nerve

Alt1 House: Door: Window
Alt2 Spoke: Wheel: Handle
Alt3 Retina: Eye: Pupil
Alt4 Snow: Cloud: Ice

6 Spot the defective segment from the following:
Alt1 Only with your help 
Alt2 I passed the test 
Alt3 though you helped me 
Alt4 at the last minute 

7 The government proposes to ------- hanging. 
Alt1 cancel
Alt2 nullify
Alt3 invalidate



Alt4 abolish

8 The burglar was hit ---------.
Alt1 on head  
Alt2 on his head    
Alt3 on the head    
Alt4 in the head   

9 Choose the option closest in meaning to the given word:    
COGENT

Alt1 consistent
Alt2 acceptable
Alt3 convincing
Alt4 weak

10 Choose the antonymous option you consider the best: 
PROVIDENT

Alt1 careful
Alt2 worldly
Alt3 prodigal
Alt4 frugal

11 Ravi’s brother is 3 years senior to him. His father was 28 years of age when his sister was born while his mother 
was 26 years of age when he was born. If his sister was 4 years of age when his brother was born, what was the 
age of Ravi’s father and mother respectively when his brother was born ?

Alt1 32 years, 23 years            
Alt2 32 years, 29 years    
Alt3 35 years, 29 years    
Alt4 35 years, 33 years

12
In each of the following questions some statements are followed by two conclusions (i) and (ii). Read the 
statements carefully and then decide which of the conclsions follow beyond a reasonable doubt. Mark your 
answer as

 Statement:     All my films are copies. I am happy to inform of the source when I copy – a producer                                                                       
                                              
 Conclusions:
(i) The producer does not make even a single film based on his own idea
(ii) The producer copies domestic and foreign films

Alt1     If only conclusion (i) follows
Alt2  If only conclusion (ii) follows
Alt3       If neither conclusion (i) nor (ii) follows
Alt4    If both the conclusions follow



13 3. What value should come in place of question mark (?) in the following number series?
      14,  28,  46,  ?,  94,  124 

Alt1 64
Alt2 68
Alt3 72
Alt4 76

14       In a certain code  ADVENTURES is written as TDRESAUVEN. How is  SURPRISINGwritten in that code ?

Alt1 IUIPGSRSNR
Alt2 IUINGSSRRP
Alt3 IUIPGSSRNR
Alt4 IRIPGSSNRR 

15 Wax is related to Grease in the same way as Milk is related to
Alt1 Drink
Alt2 Ghee 
Alt3 Curd
Alt4 Protein

16 The following information is given:  Six persons A, B, C, D, E and F are sitting in two rows, three in each.
E is not at the end of any row.
D is second to the left of F.
C, the neighbour of E, is sitting diagonally opposite to D.
B is the neighbour of F.
After interchanging seat with E, who will be the neighbours of D in the new position ?

Alt1 C and A       
Alt2 F and B               
Alt3 Only B              
Alt4 Only A 

17 If 30 students occupy 2/3 of the seats in a classroom, how many students would occupy 4/5 of the seats in the 
classroom?

Alt1 36
Alt2 32
Alt3 40
Alt4 48

18 Mean  of the first 10 odd numbers is
Alt1 10
Alt2 13
Alt3 15
Alt4 9

19 Two numbers are in the ratio 2:3, If 4 be subtracted from each, they are in the ratio 3:5, Find the numbers.



Alt1 16,24
Alt2 20,30
Alt3 0.341666667
Alt4 None

20 It takes 30 seconds to cut the woodlock into 3 pieces.How much time does it takes to cut the same block into 4 
pieces?

Alt1 40secs
Alt2 45secs
Alt3 50secs
Alt4 60secs

21 If Rekha invents a new process for recording music, she will likely apply for a:
Alt1 Patent
Alt2 Trademark
Alt3  Copyright
Alt4 Industrial  Design

22  A street vendor on Nehru Street is selling fake "TAGG" watches. Under which area of intellectual property 
would the TAG Company likely seek a remedy?

Alt1 Patent
Alt2 Trademark
Alt3 Copyright
Alt4 Industrial  Design

23 The rights of an author or artist with respect to his or her creation are governed by the law of:
Alt1 Patent
Alt2 Trademark
Alt3 Copyright
Alt4 Industrial  Design

24 Sneha has designed a uniquely shaped walker for senior citizens, which can be collapsed and, with the aid of two 
levers, used as a chair. Sneha's design is in commercial production under the name of Supportive Stroller. Which 
types of intellectual property would most likely apply to Sneha's creation?

Alt1 Patent; Copyright; Trademark
Alt2 Copyright; trademark; industrial design
Alt3 Trademark; industrial design; trade secret
Alt4 Patent; trademark; industrial design

25 WIPO stands for:
Alt1 World Information and Patents Organisation
Alt2 World Intellectual Property Organisation
Alt3 World International Property Organisation
Alt4 World Information Protection Organisation

26 Which is not a remedy for infringement of intellectual property rights?



Alt1 An accounting for profits
Alt2 An injunction
Alt3 Specific performance
Alt4 Damages

27 Passing off is 
Alt1 Incitement to break the contractual obligations of another 
Alt2 Presenting another's goods and services as one's own 
Alt3 The public utterance of a false statement of fact or opinion that harms another's reputation

Alt4 The utterance of a false statement about another's goods or services that is harmful to the reputation of those goods or 
services

28 A trademark is
Alt1 The ornamentation or shape of a functional object, such as a chair
Alt2 The right to prevent others from copying or modifying certain works
Alt3 A monopoly to make, use, or sell an invention 

29 The protection afforded by a Indian patent lasts for a maximum of 
Alt1 10 years  
Alt2 20 years  
Alt3 The life of the patent holder 
Alt4 The life of the inventor plus 50 years

30 Match the following List - I with List - II

Alt1 1-A, 2-C, 3-D, 4-B
Alt2 1-D, 2-C, 3-A, 4-B
Alt3 1-D, 2-B, 3-A, 4-C
Alt4 1-D, 2-A, 3-C, 4-B



31 As a general rule
Alt1 Intellectual property rights are assignable
Alt2 Moral rights can be assigned but not waived
Alt3 Intellectual property rights are not assignable
Alt4 Intellectual property rights are assignable and Moral rights can be assigned but not waived.

32 Which is false? Intellectual property rights may be protected by:
Alt1 Maintaining secrecy
Alt2 Registration
Alt3 Use of a confidentiality clause
Alt4 Assignment

33 Under the Patent Act, the person entitled to receive a patent on a new invention is
Alt1 The one who invented it first 
Alt2 The one who applied for a patent first 
Alt3 The one who commercialized it first
Alt4 The one who first thought of it

34 International organization with objective to encourage creative activity and to promote intellectual property 
throughout world is 

Alt1 WIPO
Alt2 UPU
Alt3 IBRD
Alt4 UNDP

35 World Intellectual Property Organization was established in
Alt1 14 March, 1959
Alt2 14 July, 1967
Alt3 14 August, 1965
Alt4 14 October, 1960

36 Headquarter of WIPO is located in
Alt1 Rome, Italy
Alt2 Bern, Switzerland
Alt3 Berlin, Germany
Alt4 Geneva, Switzerland

37 ‘Fair use’ is a term most relevant to:
Alt1 Intellectual Property Rights
Alt2 Books borrowed for home reading
Alt3 Copy right
Alt4 Use of reference books

38 Berne Convention (1886) is concerned with:
Alt1 Translations
Alt2 Copyright
Alt3 Patent



Alt4 Standards

39 Match the following


Alt1 1-D, 2-C, 3-A, 4-B
Alt2 1-A, 2-C, 3-D, 4-B
Alt3 1-D, 2-A, 3-C, 4-B
Alt4 1-D, 2-C, 3-B, 4-A

40 Example for process patent is 
Alt1 Machine
Alt2 Medicine and Drugs
Alt3 Device
Alt4 Clothes

41 Intellectual Property Rights (IPR) protect the use of information and ideas that are of
Alt1 Ethical value
Alt2 Moral value
Alt3 Social value
Alt4 Commercial value



42 The term ‘Intellectual Property Rights’ covers
Alt1 Copyrights
Alt2 Know-how
Alt3 Trade dress
Alt4 All of the above

43 The following cannot be exploited by assigning or by licensing the rights to others.
Alt1 Patents
Alt2 Designs
Alt3 Trademark
Alt4 All of the above

44 The following can be patented
Alt1 Machine
Alt2 Process
Alt3 Composition of matter
Alt4 All of the above

45 In ‘quid-pro-quo’, quo stands for
Alt1 knowledge disclosed to the public
Alt2 monopoly granted for the term of the patent
Alt3 exclusive privilege of making, selling and using the invention
Alt4 None of the above

46 Trade mark
Alt1 is represented graphically
Alt2 is capable of distinguishing the goods or services of one person from those of others
Alt3 may includes shapes of goods or combination of colours
Alt4 All of the above

47 Symbol of Maharaja of Air India is
Alt1 Copyright
Alt2 Patent
Alt3 Trademark
Alt4 All of the above

48 In India, the literary work is protected until
Alt1 Lifetime of author
Alt2 25 years after the death of author
Alt3 40 years after the death of author
Alt4 60 years after the death of author

49 Design does not include
Alt1 features of shape
Alt2 composition of lines or colours
Alt3 mode or principle of construction
Alt4 None of the above



50 The agreement that is enforceable by law is known as
Alt1 Valid agreement
Alt2 Void agreement
Alt3 Illegal agreement
Alt4 Unenforceable agreement

51 Which of the following is (are) included in Geographical indications of Goods
Alt1 Handicraft
Alt2 Foodstuff
Alt3 Manufactured
Alt4 All of the above

52 Intellectual property rights and _______________ are two of the most important developing areas of law.

Alt1 Cyber law
Alt2 copyright infringement
Alt3 patent law
Alt4 trademark infringement

53 What action would a person bring against someone who steals a trade secret?
Alt1 Economic Espionage Act 
Alt2 Infringement action 
Alt3 Misappropriation
Alt4 Violation of trademark law

54 To be patented, an invention must be _______________.
Alt1 non-obvious
Alt2 useful
Alt3 novel
Alt4 all of the above

55 Who can challenge the issue of a patent?
Alt1 Business competitors
Alt2 The inventor’s partners or employees
Alt3 Anyone
Alt4 Central government

56 Which of the following can a successful plaintiff in a patent infringement suit not recover?
Alt1 Money damages
Alt2 Royalties for the next ten years 
Alt3 Injunction preventing future infringements
Alt4 Order requiring the destruction of the infringing article

57 A patent may not be granted if the public used the invention for more than one year prior to the filing of the 
patent application pursuant to the _______________.

Alt1 fair-use doctrine



Alt2 public-use doctrine 
Alt3 World Trade organization treaty
Alt4 American Inventors Protection Act

58 In a successful copyright infringement case, the plaintiff can recover _______________.
Alt1 profits made by the copyright infringer
Alt2 an order requiring the destruction of the infringing works
Alt3 an injunction prevent future infringements
Alt4 all of the above

59 Which of the following examples would not fall into the scope of the fair-use doctrine?
Alt1 Brief quotation in a news report
Alt2 Use in a parody
Alt3 Intentional reproduction in a broadcast of a reported event
Alt4 Reproduction by a teacher to illustrate a lesson

60 Which of the following statements is true?
Alt1 Trademark registrations can be renewed for an unlimited number of ten-year periods.
Alt2 Trademark law is intended to protect the owner’s original work
Alt3 To qualify for federal protection, a mark must be distinctive and have a "secondary meaning."
Alt4 Surnames alone can be trademarked.

61 Which of the following would not qualify as a mark?
Alt1 Toys "R" Us
Alt2 Reebok
Alt3 North
Alt4 The Green Family Fun Experience

62 What must a plaintiff prove in a successful trademark infringement case?
Alt1 Defendant infringed plaintiff’s mark.
Alt2 Defendant used the mark in an unauthorized manner.

Alt3 The use of the mark is likely to cause confusion or deception of the public as to the origin of the services or goods.

Alt4 All of the above.

63 In the 1980s, which organization began using the Internet?
Alt1 National Science Foundation 
Alt2 U.S. Department of Defense
Alt3 U.S. Patent and Trademark Office
Alt4 U.S. Copyright Office

64 Commercial use domain names will normally use the following suffix in their website address.
Alt1 .net
Alt2 .gov
Alt3 .com
Alt4 .org



65 Which of following would not gain copyright protection?
Alt1 A DVD 
Alt2 An unrecorded speech 
Alt3 Written lyrics of a song 
Alt4 A hand knitted jumper

66  ___________ will be the first owner of the work made on behalf of a public undertaking.
Alt1 Public undertaking 
Alt2 Private person 
Alt3 organization 
Alt4 government

67 Which one of the following actions is not a breach of copyright?
Alt1 To import copied CDs. 
Alt2 To make a copy of a CD and sell it. 
Alt3 To borrow a CD from a friend and copy it to your laptop for your own private use. 
Alt4 To purchase a CD and copy it to your laptop for your own private use.

68 Which of the following is not one of the three essential elements for a patent to be granted for an invention?

Alt1 Be a product. 
Alt2 Be new to the public. 
Alt3 Involve an inventive step. 
Alt4 Be capable of industrial application.

69 Which one of the following statements is true?
Alt1 A patent must be registered in order to gain protection. 
Alt2 Copyright must be registered in order to gain protection. 
Alt3 The owner of a patent cannot sell it but can prevent others using his invention. 
Alt4 The definition of an invention is set out in the Patents Act 1977.

70 The law governing registered Trademarks can be found in which Act?
Alt1 The Intellectual Property Act 1994. 
Alt2 Copyright, Designs and Patents Act 1988. 
Alt3 The Registered Trade Marks Act 1994. 
Alt4 The Trade Marks Act 1994.

71 Which one of the following could not be registered as a trade mark?
Alt1 The mark is an image. 
Alt2 The mark is made up of letters and numbers. 
Alt3 The mark is made up of a symbol with no words or letters. 
Alt4 The mark represents the natural or technical shape of the goods.

72 Which one of the following statements is false?
Alt1 a.       The maximum duration for an unregistered design right is 15 years. 
Alt2 A registered design right may cover 2 dimensional and 3 dimensional objects. 
Alt3 A registered design right only applies to 3 dimensional objects. 



Alt4 The maximum duration for a registered design right is 25 years.

73 Unless a contract provides otherwise, who is the first owner of a design right created on or after 1 October 
2014?

Alt1 The person who commissioned the design. 
Alt2 The manufacturer of the design. 
Alt3 The government. 
Alt4 The designer.

74 The tort of passing off is governed by which statute?
Alt1 The Passing-off Act 1977. 
Alt2 The Tort Act 1977. 
Alt3 The Unfair Contract Terms Act 1977. 
Alt4 There is no statute that governs the law of passing-off.

75 What is the distinctive feature of basmati rice
Alt1 aroma 
Alt2 long grains 
Alt3 Both of the above 
Alt4 None of the above 

76 What is the distinctive feature of a geographical indication
Alt1 Originating geography 
Alt2 Public acknowledgement 
Alt3 Originating geography and public acknowledgement 
Alt4 Depends on the commercial value of the good

77 Trademark can be used as domain name 
Alt1 Yes 
Alt2 No
Alt3 Yes in some cases 
Alt4 None of the above 

78 Who can register Geographical Indication? 
Alt1 Individual 
Alt2 Company
Alt3 Producers 
Alt4 No one of the above 

79 Who administer UDRP? 
Alt1 WTO 
Alt2 WIPO 
Alt3 Supreme Court 
Alt4 High court 

80 Geographical Indication is 
Alt1 Private right 



Alt2 Community right 
Alt3 Intellectual property right 
Alt4 both (b) and (c) 

81 Certification mark indicates 
Alt1 Source 
Alt2 Quality 
Alt3 both (a) and (b) 
Alt4 None of the above

82 Collective Mark is registered by 
Alt1 Partnership firm 
Alt2 Association of person 
Alt3 Individual 
Alt4 Company

83 Hall Mark is 
Alt1 Trademark 
Alt2 Certification Mark 
Alt3 Collective Mark 
Alt4 Both (a) and (b)

84 Khadi is 
Alt1 Trademark 
Alt2 Certification Mark 
Alt3 Collective Mark 
Alt4 Both (a) and (b)

85 Certification mark can be registered in 
Alt1 Trademark Registry 
Alt2 Certification Board 
Alt3 Quality Control Board 
Alt4 MHRD 

86 Geographical Indication can be licensed 
Alt1 Yes 
Alt2 No 
Alt3 Yes in some cases 
Alt4 Yes with stringent quality control

87 World Book and Copyright Day Celebrated by UNESCO in
Alt1 20th April
Alt2 21st April
Alt3 22nd April
Alt4 23rd April

88 World Intellectual Property Day Celebrated in 



Alt1 Every year April 23
Alt2 Every year April 24
Alt3 Every year April 25
Alt4 Every year April 26

89 Conservation within the natural habitat is 
Alt1 insitu conservation 
Alt2 exsitu conservation 
Alt3 invivo conservation 
Alt4 exvivo conservation

90 All are insitu conservation efforts except 
Alt1 National parks 
Alt2 Sanctuaries 
Alt3 Zoo 
Alt4 biosphere reserves

91 Ex situ conservation includes 
Alt1 Zoo 
Alt2 Botanic garden 
Alt3 Germplasm bank 
Alt4 all of the above

92 Hot spots are regions of high 
Alt1 rarity 
Alt2 endemism 
Alt3 critically endangered population 
Alt4 diversity

93 The first owner of the question paper of an examination is _________.
Alt1 Examiner
Alt2 Principal 
Alt3 COE 
Alt4 Paper setter

94 The first owner of the plan of the building is _______.
Alt1 Client
Alt2 Labour
Alt3 Architect 
Alt4 owner of the building

95 The owner of the sound recording is ________.
Alt1 Composer 
Alt2 Producer
Alt3 Director 
Alt4 Artist



96 If the territorial limit is not mentioned in the agreement, then it will be extended to ____.
Alt1 Whole of India
Alt2 Only to particular State 
Alt3 whole world 
Alt4 only to particular District

97 ____________ was the first copyright Act in England was passed in 17th century.
Alt1 Statute of Anne
Alt2 Copyright Act-1814 
Alt3 Copyright Act-1911 
Alt4 Copyright Act-1914

98 In India first Copyright Act was passed in ________.
Alt1 1914
Alt2 1911
Alt3 1709
Alt4 1842

99 The first owner of the computer programme is __________.
Alt1 Author 
Alt2 Creator
Alt3 proprietor
Alt4 designer of software

100 The first owner of the cinematograph film is __________.
Alt1 Producer 
Alt2 Compose
Alt3 actors
Alt4 director


